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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 | ®FE] db 5C -1 | -50 it 3C | +1 | 130 5
2 |®Edt] 4t | ANT | = 90 it | 2NT | +1 | 150 2
3 |&F&A| A 5D = | -600 | % 5D | +1 | -620 1
4 |wal 1t 4H -1 | -100) 46 | 3NT | = | 600 12
5 | it LL PAS 7 | 3NT | +1 | -430 | 10
6 |FHA| & 4H | +1 | -650 | & 5H = | -650
7 |W&E) @ | AINT | +1 | -120 ] # | 3NT | -1 | 100 6
8 | XEL| ™ 4H = | -420 | 7 4H = | -420
9 |FA| KT 1S = -80 it | ANT | = 90 5
10 | wa| & 3s -1 | -100 | #& 4S -1 | -100
11 | WEkl & | 3NT | -1 50 X | BNT | -1 50
12 | it & 5D -2 | 100 78 3S -3 | 150 2
DATUM%iit 5 E
Efi(iis HEER Z. 5 -] 11| 32
ZZH/ELE 11 SZIK/ZREETE 12 ait 11 | 32
R/ BHER 212 I BRIX/ FELT 11 V.P. 421 | 15.79
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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 | Xk db 4C = 130 it 3C | +1 | 130
> |&t] 4t | anT | +2 | 120 | 4t | aNnT | +2 | 150 1
3 |zAm| % | s | = | 00| ® | sc | = | -600
4 |wal 4 | aNnT| = | 600 | & | aNT | = | 600
5 |t & | aNT | -2 | s0 | & | anT | +12 | 430 | 10
6 |mA| = | an | +1 | 650 | & | 4H | +1 | 650
7 |wa| & | aNT | +2 | 50| & | anT | -2 | 100 6
8 | XF&L| ™ 4H = | -420 | 7 4H = | -420
o |mm| 4t | anT | 2 | -200] & | 25 | 2 | 200 7
10|wa| @ | a0 | = | 620| & | 3s | -1 | -100 11
11 |wkl & | aNnT| 2| s0 | & [ aNT | -1 | s0
12 @l & | aNnT | 2| so | x| b | = | 130 s

DATUM%it L
ALLES I &R 7, X+ 15 | 25

MIKR/MASE -2 = A EIfE L 9 ait 15 | 25
oRESZE /Al -9 PR E /XU 2 V.P. 6.82 | 13.18
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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T

1 | X&) db 3C | +1 | 130 it 3C | +1 | 130

2 2] d 1t INT +1 120 [£3] INT = 90 1

3 panyiic] x 3NT -4 400 x 5D +1 -620 14

4 =] [£3] 3NT = 600 1t 3NT -1 -100 12

5 2] d Jris] 3NT -1 50 x 3NT -1 50

6 panyiic] [£3] 4Sx -5 [ -1100 x 4H +1 -650 10

7 =] [£3] 2S -2 -200 [£3] 2S = 110 7

8 NTo Jri] 4H = -420 Jri] 5H -1 50 10

9 panyiic] 1t INT = 90 [£3] INT -2 -100 5

10 | N8B [ri] 4H = -620 1t 3S = 140 13

11 | N [ri] 3NT +1 -430 [ri] 3NT +2 -460 1

12 | @it Jri] 3NT -1 50 x 3NT -1 50

DATUM&iit iFE
M ER I'&Fa V. 2] 33 | 40
{EfEZE/FhLT % -2 ok =/3CR0EN 1 ait 33 | 40
B R/ H SR -1 EEE/HE 2 V.P. 7.69 | 12.31
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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 | ®FE] db 3C | +2 | 150 it 3¢ | +1 | 130 1
2 |Eltl & 2C +1 110 1t INT = 90 1
3 |zmE| & | aNT | +2 | 660 B | 2H | -2 | -100 11
a |wal|l @ | aNnT | = | 600 | & | ANT | +2 | 150 | 10
5 |@dt]l & | sbx | = | 550 & | 3D | +2 | -150 9
6 | KAl F 4H +1 | -650 R 4H +1 | -650
7 |wal ® | 3c | 1| 100 & | aNT | -2 | 100
8 |wxl|l & | a0 | = | 420 @& | 4H | = | -420
o |mm| 46 | anT | = | 90 | 4 |aNTx| -2 | 100 | s
10 |wa| & | 2s | +2 | 40| &8 | 35 | -1 | -200]| s
11 |wxk| % | aNT | = | 400 %® | 3NT | = | -400
12 |mdt] & | aNT | 2| 50 | & | aNT | -2 | 50
DATUM&it iEE
IHeThs mE v -] 23 | 20
sk PH/ZAE S -1 PR/ 8 1 it 23 | 20
MSMBR /SRR 1 AERE/SKFBFF 1 V.P. 11.05 | 8.95
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mix | B [mon| w0 | em | miee |moa| me | sR | s T | T
1 NTo [£3] 3C +3 170 Jris] 3H = -140 7
2 2] d [£3] 3NT -1 -100 1t INT +1 120 6
3 panyiic] Jris] 3NT -2 200 Jris] 3C +2 -150 8
4 =] 1t 3NT = 600 [£3] 3NT = 600
5 2] d 1t 2HXx -1 -200 Jris] 3NT +1 -430 6
6 panyiic] x 4H = -620 x 4H +1 -650 1
4 =] Jri] 3NT -1 100 x 3H -1 100
8 NTo Jri] 4H = -420 [ri] 4H = -420
9 panyiic] [£3] 2C 1 -50 Jri] INT -1 100 4
10 | N8B [£3] 4Sx -2 -500 1t 2NT = 120 12
11 | N 1t 4Sx 2 -300 Jris] 3NT +2 -460 4
12 | @it x 4D = -130 Jris] 3NT = -400 7
DATUM#it B
i St iRIEE Y. X+ 33 | 22
FLKIE/ DR 1 B/ XS -5 ait 33 22
BES/ES 5 BEE/EmE 1 | VP || ess




